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1 z(x, y):2x2 —xy—y2 -6x—3y+5,M(1,-2)
2)g(xy)=x’ M (LD 3) p(x,y) = Ing, M (11)

: DPNPNAN AR MW AITOTY) OPNn nnown 2ad nna I

Dfoyiox®—y? g0 g1 4) p=In(L+ X+ Y)

cosy :1—x+ 2y
5)v=e* cosy )u=e*siny  7)g=sinx>+y?) 8 z=@1+x)"1+y)"
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Nz=x>+(y-1)>32 2)z=x?—(y-1)2 z=x?—xy+y>-2x+y
Az=x3+y*-3xy 5)z=2x*+y* —x?-2y? 6) z=1—+/x? +y?

7 z=e*?(x+y?) 8)z=-x?-xy—y?+4Inx+10Iny
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Dz=x-2y-3,D={(x,y):0<x<1,0<y<10<x+y<1}

2)p:xz—y2—4x,D:{(x,y):x2+y2 <9}
3 f =x>—xy+y*,D={(xy):|x|+|yk1}
4)q=2x3+4x%+y% —2xy, D ={(x,y):y=> x?,y <4}

mMvn

) z(x,y)=5+2(x-1)2 - (x=D(y + 2) — (y+ 2)?
2) g (%, y) =1+ (x-) +(x-D(y-2)

3 P (V) =(x=D) ~(y -1+ 05[(x-1)* +(y-1)?]
I

2 2 2 2
i y)=1-"—F g, (xy)=1-"—
2
92(x ) =1+ (x=2y) + (x-2y)%, 4>p2<x,y>=<x+y)—(x+zy)
Xz_yz

SV, (X, y)=1+x+

, BU (X Y) =Y+ XY, T)0u(XY)=xX+Yy?

8) z,(X, y) =1+ mx + ny+@x2 + mnxy + n(n2—1) y?
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) z,,0)=0 PN NNy (0,1) PP MM PR
)z (10)=-1 ) Zyp @D=-1 9o @ (0,0)
5 z,,00)=0, z,,(x05+1)=-1125

o mmpy  (20.5,0), (0,£1)

6) Znax 00)=1  7) 7, (-20) = —% 8) Z., (12) =—7+10In2

V.
Dminz=-5, maxz=-2 2)minp=-11, maxp=21
D D D D

3 minf =0, maxf =1 4)ming=0, maxq=32
D D D D

ININS
L 2 f(xy)=x" M@, f(xy)="f@)+fy@)(x-1)+ f, Q)(y-1)+
et wnix-22 + 2105 @ix-2y-1+ 15, @ply-17]
fo=yxY £y =xYInx, fo =y(y-)x¥2%, fr=x"+yx"Finx, fj, =x¥ In®x
fAy=1, f,@Q)=1, fy@Y=0, f, @Y=0, f,, @AY=1, fy AY=0
f2(x,y):1+1-(x—1)+0-(y—1)+%[O-(x—1)2+2-1-(x—1)(y—1)+0-(y—1)2]
fo(%y)=1+(xX=-D+(x-D(y-2)

V.
Dz=x-2y-3,D={(xy):0<x<1,0<y<1,0<x+y<1}
z, =1#0
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z=Xx-3 =
(CA)DINNN TN NPVMIPN MMPI PR << dz =120 < — (CA) :nov.2a
dx 0<x<1

dz z=-2y-3 x=0
(OB) onnn T2 NPV IPN MMP) PR < —=-2=0< = (OB)
dy 0<y<1 0<y<1

dz z=3x-5 y=1-Xx
(AB) onnn Tina mvupn mmp P <=—=3=0«< d— (AB)

dx 0<x<1 0<x<1
z(0)=z(0,0)=-3, z(B)=z(01)=-5, z(A=z@10)=—2 :0,B,A mmwn MNP .»
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